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Divide 3 digit by 1 digit with remainder:
699 6| 118 7 | 783 2 | 854

Word problems:

1.

On one shelf of the library 2 books can be kept, how many
shelves are needed to put 270 books?

Shelly cut 385 metres of cloth into 5 equal pieces. What is the
length of each piece?

400 fruits were distributed among 4 children equally. How
many fruits did each child get?

Kara bought 2 tickets for a movie for S 720. What is the cost of
each ticket?

459 sweets were distributed among 3 students of a school.
How many sweets will each student get if every student gets an
equal number of sweets? How many sweets will be left?

The price of 5 bags of wheat is $420. Find the price of each bag

of wheat.
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